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/A & 7B Review
Find the measurement indicated in each parallelogram.
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Solve for the variable. Each figure is a Parallelogram.
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Fingd the measures of the numbe.red angles for each parallelogram.

15.
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LMNO is a rectangle. Find the following.
For 23 and 247 FOMTNE value of x and the length of each diagonal.

23, IN=5x—8 and MO =2x+1

24 IN=3x +1and MO=8x—-4

25.Find the measure of 2~ M

T_he measure of ZNMO 1s 3290,
a) Find the measure of 2LMO 6@

b) Find the measure of ZLOM %2

27. ABCD is a square.
a) Find the measure of angle 2.
b) Find the measure of angle 1.
c) Find the length of side AB.

d) Find the length of DB.
28. Given: TABCD c

Prove: AC and BD bisect each other at E. E

A D
Statements Reasons

1) ABCD s a parallelogram, 1) Given

2) AB||DC 2) a.

3) Ll=s422= /3 3) b.

4) AB=DC 4) c..

5) d. 5) ASA

E]I;T;ﬁ‘?r—f? B6) e.

7 f. 7) Delinition of bisector
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29. Complete this two column proof:

Given: (7EFGH, with diagonals EG and HF E F
Prove: AEFK = AGHK m
H G
Statements Reason
1. Given
2. The diagonals of a parallelogram bisect each other.
EF =GH 4.
3 5.
0 RS
30. Given: SUQV = ARTVQ
ZTUQ = £5RV
Prove: QRFT is a parallelogram T U v
Statement Reason
1. LUQV = ZRVQ ATUQ= £SRV 1.
5 mATUQ +msQUY =180°
2

" m/SRV +mZQRV =180
3. mLTUQ+mLQUV =mLSRV +mZ0QRV
4 mLTUQ+mL0UV =msTUQ +mZQRV
5. mZQUV =m/QRV
6. OV =0V
7. AUQV = ARVQ
g. UQ=RV, UV=RQ
5. ORVU isa parallelogram

R Il BN IRl Bl I
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31,

Given: ABCD is a parallelogram
AC pisects #BAD and ZBCD

Prove: ABCD is a rhombus

B

D

C

Statement

Reason

. AC bisects #BAD and /BCD

]

L Al= A2 and S3= A4

. AC=AC

|2

. AABC = AADC

Ln

. AB=AD and BC=CD

i

. ABCD is a parallelogram

. AB=CD and BC= 4D

8. AB=AD=BC=CD

8. ABCDis arhombus

el Bl =N Ll Sl B I

32,

Given: ABCD is a rhombus

prove: AC bisects ZBAD and ZBCD

C

Statement

Reason

. ABCD is a rhombus

. AB=AD=CB=CD

AC=z4C

AABC = AdDC

| a|w o

L3=s4 and £2= A1

. AC bisects ZBAD and /BCD

= R I B

33.

Given: ABCD is a parallelogram

Prove: x==6

A

B

C

D

Statement

Reason

. ABCD is a parallelogram

. AB=DC

AB =DC

x+3=2x-3

3=x-3

6=

bl I S Bl

-
x=6

bl U B B B B
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34

. Given: ABCD is a rectangle
AC=Ty-19
BD=3y+1

Prove: v=10

Statement

Reason

ABCD is a rectangle

AC=BD

AC=BD

AC=7v—19, BD=5y+1

Tv—-19=35y+1

27-19 =1

27 =20

yv=10

= e LN B o I Bl

35

LGiven: £A=2C and £B = 2D

Prove: ABCD isa parallelogram

Statement

Reason

LA=2C and LB = 2D

mLA+msB +msC+msD =360°7

. x4+ v+x+y=360°

. 2x+2y=360°

x4+ y=180°

[ T IS R PO ST

. Z4 and £B are supplementary
ZA and £ D are supplementary

o W B e

. AD||BC and 4B || DC

=

[ Y |

. ABCD is a parallelogram
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